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1. Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A): The economic development

of a country depends on the rate of capital

formation in the country.

Reason (R): Higher capital formation rate

indicates higher production capacity.

Select the correct answer using the codes

given below :

Code:

(a) Both (A) and (R) are correct, (R) is the

correct explanation of (A).

(b) Both (A) and (R) are correct but (R) is

not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

2. Which of the following statements is/are

correct?

1. Transfer income is not included in the

calculation of national income.

2. Unemployment allowance is a type of

transfer income.

Code :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

3. Match List-I with List-II and choose the

correct answer with the help of given

codes:

List-I List-II

(Five Year Plan) (Feature)

A) Fourth 1. John W. Muller Model

B) Eighth 2. Chakraborty Model

C) First 3. Input-Output Model

D) Third 4. Domar Growth Model

Code :

A B C D

(a) 1 3 4 2

(b) 2 4 1 3

(c) 1 4 2 3

(d) 3 1 4 2

4. Trade Balance is a record of-

(a) Import and export of financial assets
(b) The residual value after deducting the

import value from export value of
goods.

(c) Sum of current account and capital
account

(d) Net export of goods and services

5. Which one of the following government
policy is not responsible for Inflation?

(a) Deficit Financing
(b) Liberal Credit Policy
(c) Progressive Taxation
(d) Regressive Taxation

6. The inverted “U” shaped income
distribution hypothesis is related to?

(a) Lorenz (b) Adam Smith
(c) Phillips (d) Simon Kuznets

7. The entire sequence of communities
that changes successively in a certain
area, is called-

(a) Ecological Succession

(b) Keystone Community

(c) Sere

(d) Community Dynamics

8. Match List-I with List-II and choose the

correct answer with the help of given codes:

List-I List-II

A) Rio Earth Summit 1. 1972

B) Publication of 2. Sept. 1987

Brundtland Comm. Report

C) Enforcement of 3. 1992

Montreal Protocol

D) Publication of ‘The 4. April 1987

Limit to Growth’ report

Code :

A B C D

(a) 3 2 4 1

(b) 2 1 4 3

(c) 3 1 4 2

(d) 3 4 2 1
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9. The environment modified by human

activities is called :

(a) Natural Environment

(b) Anthropogenic Environment

(c) Urban Environment

(d) Modern Environment

10. Which of the following statements is/are

correct?

1. Kyoto Protocol is related to biosafety.

2. This protocol was implemented in

December 1997.

Code :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

11. Which one of the following is an

anthropogenic source of methane

emissions?

(a) Coal Mines (b) Wetlands

(c) Termites (d) Hydrates

12. Which of the following is not an In-Situ

method of biodiversity conservation?

(a) Sacred Grove

(b) Biosphere Reserve

(c) Botanical Garden

(d) National Park

13. Who among the following first used the

term Deep Ecology?

(a) E.P. Odum

(b) F.E. Clements

(c) Ernst Haeckel

(d) Arne Naess

14. Eutrophication is related to-

(a) Air Pollution

(b) Water Pollution

(c) Soil Pollution

(d) All of the above

15. National Bureau of Plant Genetic
Resources is situated in :

(a) Lucknow (b) Chennai
(c) Pune (d) New Delhi

16. Rani Jhansi Marine National Park is
situated in-

(a) Kutch
(b) Chennai
(c) Andaman and Nicobar Islands
(d) Lakshadweep

17. Consider the following statements :

1. Bomdila Pass is situated in

Arunachal Pradesh.
2. The Brahmaputra river enters India

near this pass.

Which of the above statement(s) is/are

correct ?

(a) 1 Only

(b) 2 Only

(c) Both 1and 2

(d) Neither 1 nor 2

18. Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II
(Mountain Range) (Type)

A) Himalaya 1. Block

B) Sahyadri 2. Fold

C) Rajmahal 3. Residual

D) Nilgiri 4. Volcano

Code :
A B C D

(a) 2 1 4 3
(b) 1 2 3 4
(c) 1 2 4 3

(d) 2 3 1 4

19. Which of the following rivers is/are not

tributaries of Kaveri?

1. Bhavani 2. Bhima

3. Hemvati 4. Indravati

Code :

(a) 1 and 2 (b) 3 and 4

(c) 2 and 4 (d) 1 and 4
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9.

(a)

(b)

(c)

(d)

10.

(a) (b)

(c) (d)

11.

(a) (b)

(c) (d)

12.

(a)

(b)

(c)

(d)

13.

(a)

(b)

(c)

(d)

14.

(a) (b)

(c) (d)

15.

(a) (b)

(c) (d)

16.

(a)

(b)

(c)

(d)

17.

(a) (b)

(c) (d)

18. I II

I II

A)

B)

C)

D)

A B C D
(a) 2 1 4 3
(b) 1 2 3 4
(c) 1 2 4 3
(d) 2 3 1 4

19.

(a) (b)

(c) (d)
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20. Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II
(River Project) (State)

A) Ranganadi Project 1. Andhra
Pradesh

B) Vaitarna Project 2. Arunachal
Pradesh

C) Pochampad Project 3. Karnataka

D) Hidkal Project 4. Maharashtra

Code :

A B C D

(a) 2 1 3 4

(b) 1 2 3 4

(c) 3 2 4 1

(d) 2 4 1 3

21. Which of the following rivers are the part

of the Amazon River System?

1. Rio Negro River

2. Magdalena River

3. Putumayo River

4. Tapajos River

Code :

(a) 1, 2 and 3 (b) 1, 3 and 4

(c) 2, 3 and 4 (d) 1, 2 and 4

22. Which of the following statements

regarding the Congo River are correct?

1. Congo River crosses the equator twice.

2. The second highest capacity to produce

hydroelectric power in the world is

found in the Congo River.

3. Stanley and Livingstone Falls are

situated at the mouth of the Congo

River.

Code :

(a) 1 and 2

(b) 2 and 3

(c) 1 and 3

(d) All of the above

23. Consider the following statements :

1. Rhone River originates from the Alps
Mountains of Switzerland.

2. This river flows forming the border of
France and Germany.

3. Lyon city of France is at the bank of
this river.

Which of the above statement(s) is/are
correct?

(a) 1 and 3

(b) 2 Only

(c) 3 Only

(d) 2 and 3

24. Match List-I with List-II and choose the
correct answer with the help of given
codes:

List-I List-II

(City) (River)

A) Warsaw 1. Tagus

B) Lisbon 2. Vistula

C) Prague 3. Danube

D) Linz 4. Alb

Code :

A B C D

(a) 1 2 3 4

(b) 2 1 3 4

(c) 2 1 4 3

(d) 1 3 4 2

25. Which of the following statements is/are

correct?

1. Venezuela is top ranked in mineral

oil storage.

2. Norway receives 99% of its total

energy requirements from

hydropower.

3. USA is both a major importer and

producer of petroleum.

Code :

(a) 1 and 2 (b) 2 and 3

(c) 1 and 3 (d) All of the above
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20. I II

I II

A)

B)

C)

D)

A B C D

(a) 2 1 3 4

(b) 1 2 3 4

(c) 3 2 4 1

(d) 2 4 1 3

21.

(a) (b)

(c) (d)

22.

(a)

(b)

(c)

(d)

23.

(Rhone) 

(a)

(b)

(c)

(d)

24. I II

I II

A)

B)

C)

D)

A B C D

(a) 1 2 3 4

(b) 2 1 3 4

(c) 2 1 4 3

(d) 1 3 4 2

25.

(a) (b)

(c) (d)
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26. Which of the following statements

regarding the Kyoto Protocol is/are

incorrect?

1. Kyoto Protocol was accepted in 1997

to control greenhouse gases.

2. This protocol came into effect on 16

February 2005.

3. America and Canada quit from this

protocol in 2011 and 2017 respectively.

Code :

(a) 2 and 3 (b) 2 Only

(c) None of the above (d) 3 Only

27. Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II
(Sustainable (Title)
Dev. Goal)

A) SDG-5 1. Decent work, inclusive
and economic growth

B) SDG-6 2. Cheap and clean energy
C) SDG-7 3. Sanitation and clean

drinking water
D) SDG-8 4. Gender equality

Code :

A B C D

(a) 1 2 3 4

(b) 1 2 4 3

(c) 2 1 4 3

(d) 4 3 2 1

28. Which of the following statements

regarding the Government of India Act
1935 is/are correct?

1. There were a total of 325 sections and

10 schedules in this Act.

2. There was a system of an All India

Federation.

3. Diarchy was implemented in the

provinces, whereas diarchy  was

abolished at the Centre.

4. Burma was isloated from India.

Code:

(a) 1, 2 and 4 (b) 1, 3 and 4

(c) 2, 3 and 4 (d) 2 and 4

29. In India, Institute of Bio-resources and

Sustainable Development is situated in?

(a) Imphal (Manipur)

(b) Gangtok (Sikkim)

(c) Kolkata (West Bengal)

(d) Dispur (Assam)

30. About which Act Pandit Jawaharlal Nehru

had said these things – “Charter of

Slavery” and “A car which has brakes but

no engine”.

(a) 1909 (b) 1919

(c) 1935 (d) None of these

31. Arrange the following constitutional cases

in their chronological order :

1. Berubari Case

2. Golaknath Case

3. Sajjan Singh Case

4. Minerva Mill Case

Choose the correct answer using the

given code :

(a) 1, 3, 2, 4 (b) 1, 2, 3, 4

(c) 2, 1, 3, 4 (d) 3, 1, 2, 4

32. Match List-I with List-II and choose the

correct answer with the help of given
codes:

List-I List-II

(State) (Formation Year)

A) Nagaland 1. 1 Dec. 1963

B) Arunachal Pradesh 2. 20 Feb. 1987

C) Tripura 3. 21 Jan. 1972

D) Haryana 4. 1 Nov. 1966

Code :

A B C D

(a) 2 1 3 4

(b) 3 1 2 4

(c) 4 3 2 1

(d) 1 2 3 4
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26.

(a) (b)

(c) (d)

27. I II

I II

A) SDG-5

B) SDG-6

C) SDG-7

D) SDG-8

A B C D

(a) 1 2 3 4

(b) 1 2 4 3

(c) 2 1 4 3

(d) 4 3 2 1

28.

(a) (b)

(c) (d)

29.

(a)

(b)

(c)

(d)

30.

(a) (b)

(c) (d)

31.

(a) (b)

(c) (d)

32. I II

I II

A)

B)

C)

D)

A B C D

(a) 2 1 3 4

(b) 3 1 2 4

(c) 4 3 2 1

(d) 1 2 3 4

https://t.me/pcsstudies1
https://t.me/pcsstudies1
https://nitin-gupta.com/


SERIES : A Page No.  10 P.T.O.

33. In which of the North Eastern Indian
states, the system of Autonomous
District Council mentioned in the Sixth
Schedule is not applicable?

(a) Assam (b) Tripura
(c) Mizoram (d) Arunachal Pradesh

34. Which of the following pairs is/are not

correctly matched?

1. Advocate General of – Article 76

the State

2. Attorney General – Article 165

of India

3. Comptroller and – Article 148

Auditor General of India

4. Union Public – Article 315

Service Commission

Code :

(a) 1 and 2 (b) 2, 3 and 4

(c) 3 and 4 (d 1 and 4

35. Match List-I with List-II and choose the

correct answer with the help of given codes:

List-I List-II
(State) (Lok Sabha Seats)

A) Bihar 1. 39

B) Tamil Nadu 2. 40

C) Madhya Pradesh 3. 28

D) Karnataka 4. 29

Code :

A B C D

(a) 1 3 4 2

(b) 2 1 4 3

(c) 2 1 3 4

(d) 1 2 3 4

36. Which one of the following pairs is not

correctly matched?

(High Court) (Year of Estab.)

(a) Madras – 1862

(b) Allahabad – 1866

(c) Meghalaya – 2018

(d) Jammu Kashmir – 1957
and Ladakh

37. Consider the following statements

regarding Bharat Ratna Awards 2024 :

1. For the first time in India, ‘Bharat

Ratna’ was given to 5 people

simultaneously in 2024.

2. Former Prime Ministers P.V.

Narasimha Rao and Chaudhary

Charan Singh, L.K. Advani, M.S.

Swaminathan and Karpuri Thakur

were given ‘Bharat Ratna’.

Choose the correct statement(s) from the

above :

(a) 2 Only

(b) 1 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

38. Which of the following pairs is/are not

correctly matched?

1. World Wetlands Day – 4 February

2. World Cancer Day – 3 February

3. World Heritage Day – 18 April

4. World Happiness Day – 20 March

Code :

(a) 1 and 4 (b) 2 and 4

(c) 2 and 3 (d 1 and 2

39. Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II

(Mahajanpada) (Capital)

A) Malla 1. Hatak

B) Kamboja 2. Shuktimati

C) Chedi 3. Kushavati

D) Ashmak 4. Potali/Potan

Code :

A B C D

(a) 3 1 2 4

(b) 2 3 1 4

(c) 2 3 4 1

(d) 1 2 4 3
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33.

(a) (b)

(c) (d)

34.

(a) (b)

(c) (d)

35. I II

I II

A)

B)

C)

D)

A B C D

(a) 1 3 4 2

(b) 2 1 4 3

(c) 2 1 3 4

(d) 1 2 3 4

36.

(a)

(b)

(c)

(d)

37.

(a)

(b)

(c)

(d)

38.

(a) (b)

(c) (d)

39. I II

I II

A)

B)

C)

D)

A B C D

(a) 3 1 2 4

(b) 2 3 1 4

(c) 2 3 4 1

(d) 1 2 4 3
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40. Which of the following pairs is/are not

correctly matched?

1. Nashik Inscription– Gautami

Balshree

2. Aihole Inscription – Pulakeshin-II

3. Bhitari Inscription – Kumargupta

4. Junagadh – Skandagupta

Inscription

Code :

(a) 1, 2 and 3 (b) 1, 2 and 4

(c) 2, 3 and 4 (d All of the above

41. Match List-I with List-II and choose the

correct answer with the help of given
codes:

List-I List-II

(Monastery) (State)

A) Namgyal Monastery 1. Uttarakhand
B) Mindrolling 2. Himachal

Monastery Pradesh
C) Rumtek Monastery 3. Karnataka
D) Namdroling 4. Sikkim

Monastery

Code :

A B C D

(a) 1 2 3 4

(b) 2 1 4 3

(c) 3 4 2 1

(d) 4 3 1 2

42. Which of the following statements

regarding Mahmud Ghazni is/are

correct?

1.  Mahmud Ghazni's father's name was

Ataptagin.

2. Mahmud Ghazni ascended the throne

in 998 AD at the age of 27.

3. The Caliph of Baghdad recognized him

and gave him the title of Yamin-ud-

Daula and Yamin-ul-Millah.

Code:

(a) 1 and 2 (b) 2 and 3

(c) 1 and 3 (d) 1, 2 and 3

43. The Sultan of Delhi who used to call his
chieftains as ‘Maqsad-e-Ali’, was –

(a) Sikandar Lodi (b) Bahlol Lodi

(c) Balban (d) Alauddin Khilji

44. In the context of the famous cities of the
Sultanate period and reasons for fame,
Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I    List-II

(City) (Reason for Fame)

A) Surasati 1. For good quality rice.
B) Anhilwad 2. Pilgrimage place for

traders
C) Satgaon 3. For silk quilts
D) Agra 4. For indigo production
Code:

A B C D

(a) 1 2 3 4
(b) 2 1 4 3
(c) 1 3 4 2
(d) 2 4 1 3

45. Arrange the Later Mughal Emperors
according to their chronology  :

(a) Jahandar Shah, Bahadur Shah,
Muhammad Shah, Ahmad Shah

(b) Bahadur Shah, Jahandar Shah,
Muhammad Shah, Ahmad Shah

(c) Muhammad Shah, Bahadur Shah,
Ahmad Shah, Jahandar Shah

(d) Bahadur Shah, Muhammad Shah,
Jahandar Shah, Ahmad Shah

46. Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II
(First Factory)

A) Portuguese 1. Masulipatnam
B) Dutch 2. Cochin
C) Dennis 3. Surat
D) French 4. Travancore

Code :
A B C D

(a) 3 4 2 1
(b) 2 1 4 3
(c) 1 2 3 4

(d) 4 3 1 2
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40.

II

(a)

(b)

(c)

(d)

41. I II

I II

A)

B)

C)

D)

A B C D

(a) 1 2 3 4

(b) 2 1 4 3

(c) 3 4 2 1

(d) 4 3 1 2

42.

(a) (b)

(c) (d)

43.

(a) (b)

(c) (d)

44.

I II

I II

A)

B)

C)

D)

A B C D
(a) 1 2 3 4
(b) 2 1 4 3
(c) 1 3 4 2
(d) 2 4 1 3

45.

(a)

(b)

(c)

(d)

46. I II

I II

A)

B)

C)

D)

A B C D
(a) 3 4 2 1
(b) 2 1 4 3
(c) 1 2 3 4
(d) 4 3 1 2
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47. Which one of the following is not correctly
matched?

(a) “Congress is about to – Aurbindo

die of tuberculosis” Ghosh

(b) “Congress is a – Bipin

begging institute” Chandra Pal

(c) “Congress conference – Bal

is a three-days Gangadhar

tamasha” Tilak

(d) “Congress is the – Lala Lajpat

brainchild of Rai

Lord Dufferin”

48. Match List-I with List-II and choose the

correct answer with the help of given codes:

List-I List-II

(Organisation) (Year of Estab.)

A) East Indian Association 1. 1887

B) Indian League 2. 1876

C) Indian Association 3. 1866

D) Indian National 4. 1875

Social Conference

Code :

A B C D

(a) 3 4 2 1

(b) 3 4 1 2

(c) 1 2 3 4

(d) 4 3 1 2

49. Which one of the following pairs is not

correctly matched?

(Equipment) (Energy Conversion)

(a) Dynamo – Mechanical energy

into electrical energy

(b) Electric – Converts electrical

Motor energy into

mechanical energy.

(c) Electric Cell – Converts electrical

energy into chemical

energy.

(d) Electric Bulb – Electrical energy is

converted into light

and heat energy.

50. Match List-I with List-II and choose the

correct answer with the help of given

codes:

List-I List-II

(Apparatus) (Inventor)

A) Submarine 1. David Bushnell

B) Radar 2. Robert Watson Watt

C) Tanks 3. Sir James Puckle

D) Machine Gun4. Sir Ernest Swinton

Code :

A B C D

(a) 1 2 3 4

(b) 2 1 4 3

(c) 4 3 2 1

(d) 1 2 4 3

51. Which of the following options is not

correct?

(a) Gravimeter - By this the presence of

oil on the surface of water is detected.

(b) Hydrometer – With this instrument

the relative density of liquids is

determined.

(c) Hygrometer – With its help the

relative humidity prevailing in the

sea is measured.

(d) Hydrophone – With its help, sound

waves inside water are computed.

52. Identify the incorrect statement from

the following-

On moving from top to bottom in a group

in the modern periodic table –

(a) The size of the atom increases.

(b) Electro-positivity increases.

(c) Ionization Energy increases.

(d) Electro-negativity decreases.

53. Which of the following is not an ore of

aluminium?

(a) Corundum (b) Feldspar

(c) Kaolin (d) Fluorspar
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47.

(a)

(b)

(c)

(d)

48. I II

I II

A)

B)

C)

D)

A B C D

(a) 3 4 2 1

(b) 3 4 1 2

(c) 1 2 3 4

(d) 4 3 1 2

49.

(a)

(b)

(c)

(d)

50. I II

I II

A)

B)

C)

D)

A B C D

(a) 1 2 3 4

(b) 2 1 4 3

(c) 4 3 2 1

(d) 1 2 4 3

51.

(a)

(b)

(c)

(d)

52.

(a)

(b)

(c)

(d)

53.

(a) (b)

(c) (d)
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54. Match List-I with List-II and choose the

correct answer with the help of given

codes:

List-I List-II

(Acid) (Natural Source)

A) Tartaric Acid 1. Tomato

B) Oxalic Acid 2. Tamarind

C) Methanoic Acid 3. Putrefied Butter

D) Butyric Acid 4. Scorpion Sting

Code :

A B C D

(a) 2 1 4 3

(b) 1 2 3 4

(c) 3 4 1 2

(d) 4 3 2 1

55. Which of these inert gases is found in free

form in the atmosphere?

1. Krypton 2. Argon

3. Xenon 4. Radon

Code:

(a) 1 and 2 (b) 1, 2 and 3

(c) All of the above (d) None of the above

56. Match List-I with List-II and choose the

correct answer with the help of given

codes:

List-I List-II

(Plant) (Family)

A) Apple 1. Rutaceae

B) Orange 2. Cruciferae

C) Tomato 3. Rosaceae

D) Turnip 4. Solanaceae

Code :

A B C D

(a) 3 1 4 2

(b) 1 3 2 4

(c) 2 4 3 1

(d) 3 1 2 4

57. Which of the following pairs is/are not
correctly matched?

(Disease) (Crop)

1. Wart – Potato

2. Tikka – Peanuts

3. Smut – Sorghum (Jowar)

4. Ergot – Millet

Code:

(a) 1 and 2 (b) 2 and 3

(c) 2 and 4 (d) 3 and 4

58. Consider the following statements :

1. Pancreatic juice is an acidic juice

composed of enzymes trypsin amylase

and lipase.

2. Gastric juice is an alkaline juice in

which pepsin and rennin enzymes are

found.

Which of the above statement(s) is/are

incorrect :

(a) Both 1 and 2 (b) 1 Only

(c) 2 Only (d) Neither 1 nor 2

59. Match List-I with List-II and choose the

correct answer with the help of given codes:

List-I List-II
(Five Year Plan) (Priority Sectors)

A) Fourth Plan 1. Development with

justice and economic

self-reliance

B) Fifth Plan 2. Poverty alleviation

and attainment of

self-reliance

C) Tenth Plan 3. Ending poverty and

unemployment

D) Eleventh Plan 4. Rapid and inclusive

development

Code:
A B C D

(a) 1 3 2 4

(b) 1 4 2 3

(c) 1 2 3 4

(d) 2 1 4 3
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54. I II

I II

A)

B)

C)

D)

A B C D

(a) 2 1 4 3

(b) 1 2 3 4

(c) 3 4 1 2

(d) 4 3 2 1

55.

(a) (b)

(c) (d)

56. I II

I II

A)

B)

C)

D)

A B C D

(a) 3 1 4 2

(b) 1 3 2 4

(c) 2 4 3 1

(d) 3 1 2 4

57.

(a) (b)

(c) (d)

58.

(a) (b)

(c) (d)

59. -I -II 

-I -II

A)

B)

C)

D)

A B C D

(a) 1 3 2 4

(b) 1 4 2 3

(c) 1 2 3 4

(d) 2 1 4 3
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60. Which of the following is not related to

poverty measurement?

(a) Lorenz Curve

(b) Laffer Curve

(c) Gini Coefficient

(d) None of these

61. Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II

(Central Scheme) (Launched on)

A) Pradhan Mantri 1. 7 July 2016
Ujjwala Yojana

B) Namami Gange 2. 1 May 2016
C) Ayushman Bharat 3. 24 Oct. 2017
D) Bharatmala Project 4. 23 Sept. 2018

Code :

A B C D

(a) 1 2 3 4
(b) 2 1 3 4
(c) 2 1 4 3
(d) 3 4 2 1

62. Consider the following statements :

1. Foreign investment in defence
production sector is 100%.

2. The limit of foreign investment in
private banking sector is 74%.

Which of the above statement(s) is/are
correct :

(a) Both 1 and 2 (b) 2 Only
(c) 1 Only (d) Neither 1 nor 2

63. Which one of the following pairs is not
correctly matched?

(a) Rekhi Committee – Indirect Tax

(b) Bhurelal – Increase in
Committee motor vehicle

taxes

(c) Wanchu – Tax Reforms
Committee

(d) A. Ghosh – With the
Committee objective of

preventing

fraud in banks.

64. Consider the following statements

regarding Barabar Hill Caves :

1. There are total 8 caves on Barabar

Hill.

2. These caves belong to Maurya period.

Which of the above statement(s) is/are

correct :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

65. Match List-I with List-II and choose the

correct answer with the help of given codes:

List-I List-II

A) Gandhara Art 1. Chola

B) Aihole Inscription 2. Patika

C) Uttaramerur 3. Pulakeshin-II

Inscription

D) Taxila Inscription 4. Kushan

Code :

A B C D

(a) 4 1 3 2

(b) 1 2 3 4

(c) 4 3 1 2

(d) 2 1 4 3

66. From where, three human skeletons

have been emerged from a single grave?

(a) Sarai Nahar Rai

(b) Damdama

(c) Mahadaha

(d) Langhnaj

67. Consider the following statements is/are

correct?

1. The founder of Pala dynasty was

Dharmapala.

2. He had established Odantapuri

University.

Code :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2
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60.

(a)

(b)

(c)

(d)

61. I II

I II

A)

B)

C)

D)

A B C D

(a) 1 2 3 4

(b) 2 1 3 4

(c) 2 1 4 3

(d) 3 4 2 1

62.

(a) (b)

(c) (d)

63.

(a)

(b)

(c)

(d)

64.

(a) (b)

(c) (d)

65. I II

I II

A)

B)

C) II

D)

A B C D

(a) 4 1 3 2

(b) 1 2 3 4

(c) 4 3 1 2

(d) 2 1 4 3

66.

(a)

(b)

(c)

(d)

67.

(a) (b)

(c) (d)
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68. Match List-I with List-II and choose the

correct answer with the help of given codes:

List-I List-II

(Jain Tirthankars) (Symbol)

A) Rishabhdev 1. Bull

B) Parshvanatha 2. Snake

C) Sambhavnatha 3. Horse

D) Mahavir 4. Lion

Code :

A B C D

(a) 3 1 2 4

(b) 2 4 1 3

(c) 1 2 3 4

(d) 3 4 1 2

69. Who among the following defeated the last

Sharqi ruler Hussain Shah Sharqi and

made Jaunpur a part of the Delhi

Sultanate again?

(a) Ibrahim Lodi (b) Firuz Shah Tughlaq

(c) Bahlol Lodi (d) Alauddin Khilji

70. Aurangzeb had given the title of ‘Sahibat-

uz-Zamani’ to whom ?

(a) Roshanara (b) Jahanara

(c) Shaista Khan (d) Amir Khan

71. In the Vijayanagara Empire, those

agricultural labourers who were

transferred along with the purchase and

sale of land were called-

(a) Kudi (b) Ves-Vag

(c) Umbali (d) Kuttagi

72. Consider the following statements :

1. Productivity in deep water increases

with depth.

2. Highest productivity is found in

estuaries.

Which of the above statement(s) is/are

correct :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

73. Choose the correct sequence of Trophic
levels in the food chain :

(a) Autotrophs   Herbivores 
Omnivores   Carnivores 
Decomposers

(b) Autotrophs   Herbivores 
Decomposers   Carnivores  
Omnivores

(c) Herbivores   Autotrophs 
Carnivores   Omnivores 
Decomposers

(d) Autotrophs   Herbivores 
Carnivores   Omnivores 
Decomposer

74. Consider the following statements

regarding Magrove Forests :

1. Mangroves are a group of plants found

in inter-tidal zones along the coasts

of tropical and sub-tropical countries.

2. Among the states and union territories,

Gujarat has the highest percentage of

total mangrove cover area.

Which of the above statement(s) is/are

correct :

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

75. Consider the following statements

regarding Global Warming :

1. According to the Intergovernmental

Panel on Climate Change (IPCC), the

world is likely to warm by two degrees

Celsius by the year 2050.

2. The world has registered an increase

of 1.1 degrees Celsius compared to the

average temperature of the year

1850-1900.

Which of the above statement(s) is/are

correct :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2
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68. I II

I II

A)

B)

C)

D)

A B C D

(a) 3 1 2 4

(b) 2 4 1 3

(c) 1 2 3 4

(d) 3 4 1 2

69.

(a) (b)

(c) (d)

70.

(a) (b)

(c) (d)

71.

(a) (b)

(c) (d)

72.

(a) (b)

(c) (d)

73.

(a)   


(b)   


(c)   


(d)   


74.

(a)

(b)

(c)

(d)

75.

IPCC

(a)

(b)

(c)

(d)
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76. Consider the following statements

regarding World Meteorological

Organization :

1. It is an inter-governmental organization

with membership of 192 countries.

2. India is not a member country of the

World Meteorological Organization.

Which of the above statement(s) is/are

correct :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

77. Consider the following statements

regarding Green Steel :

1. The Steel Ministry wants to reduce

carbon emissions in the steel industry

by promoting green steel.

2. Green steel refers to the manufacturing

of steel without the use of fossil fuels.

Which of the above statement(s) is/are

correct :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

78. Consider the following pairs :

1. Wildlife (Protection) Act – 1972

2. Environmental – 1980

Protection Act

3. Biodiversity Act – 2002

4. Forest (Conservation) Act – 1986

How many of the above pairs are

correctly matched?

(a) Only one (b) Only two

(c) Only three (d) All four

79. Which of the following statement(s)

regarding ‘Itlaq System’ is/are correct?

1. It was started by Firoz Shah Tughlaq.

2. Itlaqnama was a kind of Hundi with

the help of which soldiers used to get

salary from revenue officers.

Code :

(a) Only 1 (b) Only  2

(c) Both 1 and 2 (d) Neither 1 nor 2

80. Which one of the following tests is used

to diagnose Osteoporosis?

(a) BMD (b) Widal

(c) Elisa (d) None of these

81. Consider the following :

1. Raleigh Commission

2. Sadler Commission

3. Charles Wood Dispatch Committee

4. Hunter Commission

Arrange the above according to their

chronology :

(a) 1, 2, 3, 4 (b) 3, 4, 2, 1

(c) 3, 4, 1, 2 (d) 4, 3, 1, 2

82. Which of the following statements

regarding Right to Freedom of Religion

is/are correct ?

1. This right is available to Indian

citizens only.

2. This is not absolute.

Code :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

83. The ‘Kashmir Valley’ is an example of

which type of fold?

(a) Symmetrical fold

(b) Asymmetrical fold

(c) Nappe

(d) Monoclinal fold

84. Choose the correct statements regarding

the history of Uttar Pradesh–

1. The evidences of invasion of Hunas

on Kushinagar has also been found.

2. The ancient name of Ayodhya was

Ayajsa.

Code :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2
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76.

(a) (b)

(c) (d)

77.

(a) (b)

(c) (d)

78.

(a) (b)

(c) (d)

79.

(a) (b)

(c) (d)

80.

(a) (b)

(c) (d)

81.

(a) (b)

(c) (d)

82.

(a) (b)

(c) (d)

83.

(a)

(b)

(c)

(d)

84.

(a) (b)

(c) (d)
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85. The instrument used to measure the

speed of a rotating object is :

(a) Chimoscope (b) Hetroscope

(c) Tachometer (d) Hygroscope

86. Which one of the following methods is

used to determine the age of the earth?

(a) Carbon Dating (b) Germanium

Dating

(c) Uranium Dating (d) Silver Dating

87. The correct order of formation of the

following states is-

(a) Maharashtra, Nagaland, Meghalaya

(b) Nagaland, Meghalaya, Maharashtra

(c) Maharashtra, Meghalaya, Nagaland

(d) Meghalaya, Nagaland, Maharashtra

88. Which one of the following pairs is not

correctly matched?

(Mountain Peak)    (Continent/Country)

(a) Mount Kosciuszko : Australia

(b) Mount Kilimanjaro : Tanzania

(c) Allegheny : USA

(d) Mount Titlis : France

89. Consider the following statements

regarding ‘Biome’ :

1. This includes all the vegetations and

organisms is a vast region.

2. There is high dominance of

vegetations in a Biome.

Code :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

90. Which of the following lakes is the

meeting point of Germany, Switzerland

and Austria?

(a) Onezeskoy Lake

(b) Veterans Lake

(c) Constance Lake

(d) Onega Lake

91. Which one of the following Sustainable

Development Goals will aim to achieve

gender equality in India by 2030 as well

as empower women?

(a) SDG-6

(b) SDG-5

(c) SDG-7

(d) SDG-8

92. Match List-I with List-II and answer with

the help of given codes:

List-I List-II

(Place) (Industry)

A) Vishakhapattnam 1. Cement

B) Dalmia Nagar 2. Pesticide

C) Bhopal 3. Ship Building

D) Panki 4. Fertilizer

Code:

A B C D

(a) 3 2 1 4

(b) 3 1 2 4

(c) 4 3 1 2

(d) 2 3 1 4

93. Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A): The Bile secreted by the

liver is stored in Gallbladder.

Reason (R): This bile increases the

intensity of enzyme actions.

Select the correct answer using the codes

given below :

Code:

(a) Both (A) and (R) are correct, (R) is the

correct explanation of (A).

(b) Both (A) and (R) are correct but (R) is

not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.
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85.

(a) (b)

(c) (d)

86.

(a) (b)

(c) (d)

87.

(a)

(b)

(c)

(d)

88.

(a)

(b)

(c)

(d)

89.

(a) (b)

(c) (d)

90.

(a)

(b)

(c)

(d)

91.

(a)

(b)

(c)

(d)

92. I II

I II

A)

B)

C)

D)

A B C D

(a) 3 2 1 4

(b) 3 1 2 4

(c) 4 3 1 2

(d) 2 3 1 4

93.

A R

(A) Bile

(R)

(a) (A) (R) (R), (A)

(b) (A) (R) (R) (A)

(c) (A) (R)

(d) (A) (R)
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94. Consider following incidents and arrange

them according to their chronology:

1. Establishment of Anusheelan Samiti

2. Establishment of ‘Abhinav Bharat’

3. Nasik Conspiracy Case

4. Alipur Conspiracy Case

Code :

(a) 1, 2, 4, 3 (b) 4, 3, 2, 1

(c) 3, 4, 1, 2 (d) 2, 1, 4, 3

95. ‘Narayani’, Hot Water Spring is situated

at?

(a) Gujarat (b) Bihar

(c) Rajasthan (d) Haryana

96. Which of the followings were not equally

existed in Buddhism and Jainism ?

1. Disbelief in Authenticity of Vedas

2. Self-repression

3. Nonviolence

Code :

(a) 1 and 3 (b) 2 and 3

(c) 1, 2 and 3 (d) Only 2

97. Fertigation means :

(a) Providing fertilizer by the water.

(b) Providing pesticides by the water.

(c) Treatment by bio fertilizer

(d) None of these

98. Consider the following statements :

1. Tarun Stree Sabha was established in

the year 1819 in Calcutta.

2. The first women university was

established by D.K.Karve in Bombay

in 1906.

Choose the correct statements :

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

99. which of the following cities is not a

capital of any country ?

(a) Nicosia (b) Port Louis

(c) Bern (d) Christchurch

100.The minimum age for a person to be

elected for legislative council of states

is-

(a) 25 years (b) 21 years

(c) 35 years (d) 30 years

101. ‘Global Migration Report’ is published by

which one of the following organisations?

(a) International Refugee Organisation

(b) International Labour Organisation

(c) International Migrants Alliance

(d) International Migrant Organisation

102.Any person has rights to publish the

proceedings of parliament/state

assembly, it is described in :

(a) Article 362(B)

(b) Article 361(A)

(c) Article 363(C)

(d) Article 364(D)

103.On which one of the following dates,

“International Rural Women's Day” is

celebrated all over the world?

(a) 10 October

(b) 15 October

(c) 21 September

(d) 15 September

104.Which one of the following Articles of the

Indian Constitution empowers the

Parliament to regulate the right to

citizenship?

(a) Article 8 (b) Article 9

(c) Article 10 (d) Article 11
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94.

(a) (b)

(c) (d)

95.

(a) (b)

(c) (d)

96.

(a) (b)

(c) (d)

97.

(a)

(b)

(c)

(d)

98.

(a) (b)

(c) (d)

99.

(a) (b)

(c) (d)

100.

(a) (b)

(c) (d)

101.

(a)

(b)

(c)

(d)

102.

(a) B

(b) A

(c) C

(d) D

103.

(a)

(b)

(c)

(d)

104.

(a) (b)

(c) (d)
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105. In the visual spectrum, the correct order

of the colours on the basis of increasing

order of wavelength is :

(a) Red, Yellow, Blue, Violet

(b) Violet, Yellow, Blue, Red

(c) Blue, Yellow, Red, Violet

(d) Violet, Blue, Yellow, Red

106. Which one of the following environmental

conventions is also known as ‘Second

Earth Summit’?

(a) Johannesburg Summit (2002)

(b) Durban Conference (2010)

(c) Copenhagen Conference (2013)

(d) Stockholm Conference

107.Consider the following statements

regarding ‘Coenzyme Q-10’ :

1. This is found in all the organisms and

plants including humans.

2. It is capable to nullify the impact of

damage due to ultraviolet rays

3. It is used in beauty product.

The correct statements from the above

is/are :

(a) 1 Only (b) 1 and 2

(c) 2 and 3 (d) All of the above

108.How many ractangles are there in the

following figure ?

(a) 15 (b) 16

(c) 17 (d) 18

109.Find the value of x in the given series :

2, 6, 30, 210, x, 30030.....

(a) 2310 (b) 1890

(c) 2520 (d) 2730

110.What will be the next letters in the

following series ?

KUZ, MOX, OIV, QET

(a) SUR (b) SAR

(c) SAQ (d) SDR

111.The value of x in the series 8, 11, 17, x,

53, 101 .............. will be :

(a) 23 (b) 26

(c) 29 (d) 30

112.The Doctor : Nurse relation is similar as

Police Inspector : ................

(a) Thief

(b) Policeman

(c) Pistol

(d) Prison

113.Suppose that :

1. A is brother of B

2. C is father of A

3. D is brother of E

4. E is daughter of B

Then who is the uncle of D ?

(a) A (b) B

(c) C (d) E

114. In a Precision Clock the minute hand

will move in a period of 2 hours 20

minutes :

(a) 520º (b) 320º

(c) 840º (d) 10º

115. July 15, 1964 was Wednesday. Then find

out the day on July 15, 1965.

(a) Thursday

(b) Tuesday

(c) Friday

(d) None of the above
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105.

(a)

(b)

(c)

(d)

106.

(a)

(b)

(c)

(d)

107.

(a) (b)

(c) (d)

108.

(a) (b)

(c) (d)

109. x

2, 6, 30, 210, x, 30030.....

(a) 2310 (b) 1890

(c) 2520 (d) 2730

110.

KUZ, MOX, OIV, QET

(a) SUR (b) SAR

(c) SAQ (d) SDR

111. x x

(a) (b)

(c) (d)

112.

(a)

(b)

(c)

(d)

113.

1. A, B 

2. C, A 

3. D, E 

4. E, B 

D

(a) A (b) B

(c) C (d) E

114.

(a) 520º (b) 320º

(c) 840º (d) 10º

115.

(a)

(b)

(c)

(d)
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116. If In a code language MAILED is coded as

NBJMFE then LETTER will be coded as :

(a) MUUFGY

(b) DMBTTS

(c) PFUUMY

(d) MFUUFS

117.A man moves 10 km towards south from

his home. Then he turns right and moves

6 km and again turns right and moves 10

km. Finally he turns right and moves 5

km. At what distance is he from his

starting point?

(a) 31 km

(b) 2 101  km

(c) 1 km

(d) 125 136  km

118.

(a) 421 (b) 325

(c) 226 (d) 465

119.Five books A, B, C, D and E are placed on a

table in such a way that A is above B but

below C; D is below E and E is below B. How

many books are there below B?

(a) 1 (b) 2

(c) 3 (d) 4

120.Geeta is more beautiful than Sita but not

as beautiful as Rita, then-

(a) Sita is not as beautiful as Gita.

(b) Sita is more beautiful than Rita.

(c) Rita is not as beautiful as Gita.

(d) Gita is more beautiful than Rita.

121.According to the Hurun India

Philanthropy List-2023 released in

November-2023, who among the following

Indian donors got the top rank ?

(a) Shiv Nadar (b) Azim Premji

(c) Naveen Mittal (d) Gautam Adani

122. In November-2023, to promote innovation

ecosystem India launched ‘Innovation

Handshake’ Initiative with which country?

 (a) UAE (b) USA

 (c) UK (d) Singapore

123. In November-2023, ‘Renita Rismayanti’
was honoured with the United Nations
Woman Police Officer of the Year Award.
She is a citizen of which country?

(a) Singapore (b) Indonesia

(c) Argentina (d) Brazil

124.Consider the following statements :

1. APEC Summit-2023 was organized in

San Francisco (USA).

2. Theme of this summit is “Creating a

Resilient and Sustainable Future for

All”.

The correct statement(s) is/are :

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

125. Hiralal Sanwariya was appointed as the
head of the Central Information
Commission in November-2023, which

one statement regarding the Central

Information Commission is not correct?

(a) It was established by the Central

Government in the year 2005.

(b) It is a constitutional body.

(c) The Central Information

Commissioner may hold office for

such period as may be prescribed by

the Central Government or till the age

of 65 years (whichever is earlier).

(d) All the statements are correct.
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116. MAILED

NBJMFE LETTER 

(a) MUUFGY (b) DMBTTS

(c) PFUUMY (d) MFUUFS

117.

(a)

(b) 2 101

(c)

(d) 125 136

118.

(a) (b)

(c) (d)

119. A, B, C, D E

A, B C D, E

E, B B 

(a) (b)

(c) (d)

120.

(a)

(b)

(c)

(d)

121.

(a) (b)

(c) (d)

122.

(a) (b)

(c) (d)

123.

(a) (b)

(c) (d)

124.

(a) (b)

(c) (d)

125.

(a)

(b)

(c)

(d)
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126. Consider the following statements :

1. Article 148 makes a provision

regarding the appointment of the

Comptroller and Auditor General of

India.

2. In November 2023, Comptroller and

Auditor General of India Girish

Chandra Murmu was appointed Vice-

Chairman of the United Nations

Auditor Panel for the year 2024.

The correct statement(s) is/are :

(a) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d) Neither 1 nor 2

127. In Nov.-2023, the Second World War

Museum ‘The Hans’ was inaugurated in?

(a) Pasi Ghat (Arunachal Pradesh)

(b) Kohima (Nagaland)

(c) Ita Nagar (Arunachal Pradesh)

(d) Dispur (Assam)

128. In November 2023, which of the following

words was declared the ‘Word of the Year’

by Cambridge Dictionary ?

(a) Hallucinate (b) Epidemic

(c) Pandemic (d) Webster

129. In November 2023, the ‘Worldwide Cost

of Living-2023’ list of the world's most

expensive cities was released by the

Economist Intelligence Unit (EMU),

which city topped the list?

(a) Singapore (b) Zurich

(c) Both (a) and (b) (d) Vienna

130. In Nov. 2023, ‘Javier Milei’ assumed

office as the President of which South

American country ?

(a) Brazil (b) Peru

(c) Argentina (d) Bolivia

131.Which of the following countries

officially withdrew from the ‘Treaty of

European Armed Forces’ in Nov. 2023?

(a) Spain (b) Poland

(c) Germany (d) Russia

132. In November 2023, the Pradhan Mantri

Janjati Adivasi Nyaya Maha Abhiyan

(PM-Janman) was launched by Prime

Minister Narendra Modi from which of the

following places ?

(a) Khunti (Jharkhand)

(b) Aizawl (Mizoram)

(c) Shahdol (Madhya Pradesh)

(d) Patna (Bihar)

133.Who among the following Bollywood actors

was appointed as ‘UPI Safety

Ambassador’ by the National Payments

Corporation of India (NCPI) in Nov.-2023?

(a) Rajkumar Rao

(b) Pankaj Tripathi

(c) Akshay Kumar

(d) Amitabh Bachchan

134.The first Sheep-Goat Rearing Training

Centre of Uttar Pradesh was inaugurated

in November 2023 at?

(a) Mathura (b) Etawah

(c) Agra (d) Saharanpur

135. In November-2023, ‘World Tourism

Market-2023’ was held in?

(a) London (UK)

(b) New York (USA)

(c) Guwahati (India)

(d) Paris (France)

136. India’s rank in ‘Global Unicorn Ranking-

2023’ released in Nov. 2023 was :

(a) Twelfth (b) Second

(c) Third (d) Fifth

https://t.me/pcsstudies1
https://t.me/pcsstudies1
https://nitin-gupta.com/


SERIES : A Page No.  33 RO (Pre) 2023-III-Test7

126.

(a) (b)

(c) (d)

127.

(a)

(b)

(c)

(d)

128.

(a) (b)

(c) (d)

129. EIU

(a) (b)

(c) (a) (b) (d)

130.

(a) (b)

(c) (d)

131.

(a) (b)

(c) (d)

132.

(a)

(b)

(c)

(d)

133.

(a)

(b)

(c)

(d)

134.

(a) (b)

(c) (d)

135.

(a)

(b)

(c)

(d)

136.

(a) (b)

(c) (d)
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137.

(a) (b)

(c) (d)

138.

(a) (b)

(c) (d)

139.

(a) (b)

(c) (d)

140.

(a)

(b)

(c)

(d)

137. In November-2023, ‘Global Fisheries

Conference India-2023’ conference was

organized in Ahmedabad. In this

conference, which of the following

Indian states got the first rank in inland

fisheries (plain areas)?

(a) Telangana (b) Uttar Pradesh

(c) Madhya Pradesh (d) West Bengal

138. In Nov. 2023, the joint military exercise

‘Mitra Shakti-2023’ was organized

between India and which country ?

(a) Singapore (b) Sri Lanka

(c) Bangladesh (d) Indonesia

139. In November-2023, the first Global AI

Safety Summit-2023 was hosted by which

country?

(a) France (b) Argentina

(c) Canada (d) England

140. In November 2023, ‘Nayi Chetna 2.0’

Campaign to prevent gender-based

violence was launched by which ministry?

(a) Ministry of Rural Development

(b) Ministry of Social Justice and

Empowerment

(c) Ministry of Women Empowerment and

Child Development

(d) Ministry of Education
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1. Ans– (a)

A R R A

Assertion (A) and Reason (R) both are correct and Reason (R) is the correct explanation of Assertion (A).
The economic development of a country depends on the rate of capital formation in the country, so the higher
the rate of capital formation, the greater will be the increase in production capacity.

2. Ans– (c)

Income that is given voluntarily by the employer to the employee and is not linked to the work done by the
employee is called transfer income. Transfer income is not included in the calculation of national income.
Such as retirement pension, old age pension, unemployment allowance, gifts etc.

3. Ans– (d)









The correct match is :
(Five Year Plan) (Feature)
 Fourth – Input-Output Model
 Eighth – John W. Muller Model
 First – Domar Growth Model
 Third – Chakraborty Model

4. Ans– (b)

The trade balance of a country is a statement of the monetary value of goods imported and exported by that
country over a certain period of time. It is determined as the residue by deducting the import price from the
export price of goods.

5. Ans– (c)

Inflation is a situation in which the price level increases and the value of currency falls. Deficit Financing,
liberal debt and credit policy, regressive taxation, hard industrial policy etc. are the government policies
responsible for inflation. Progressive taxation policy is not included in this.

6. Ans– (d)

‘U’ 
According to Simon Kuznets – With the increase in per capita income, initially the inequality of income
increases and later with the increase of income the inequality of income distribution starts reducing. This

Test Booklet Series
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relationship was explained by Kuznets through an inverted "U" shaped curve.

7. Ans– (c)

Sere
The entire sequence of communities that changes successively in a certain area, is called Sere.

8. Ans– (d)









The correct match is :
 Rio Earth Summit – 1992
 Publication of Brundtland Comm. Report – April 1987
 Enforcement of Montreal Protocol – Sept. 1987
 Publication of ‘The Limit to Growth’ Report – 1972

9. Ans– (b)

The environment modified by human activities is called ‘Anthropogenic Environment’

10. Ans– (d)

The Kyoto Protocol is an international agreement that is interconnected with the United Nations Framework
Convention on Climate Change. This protocol was adopted in Kyoto (Japan) on 11 December 1997 and came
into force on 16 February 2005. This protocol aims to reduce emissions of gases that contribute to global
warming.

11. Ans– (a)

Coal mines, domestic animals and paddy fields are anthropogenic sources of methane emissions, while
wetlands, hydrates and termites are natural sources of methane emissions.

12. Ans– (a)

Conservation of organisms in their natural habitat is called In-Situ conservation. Example- Biosphere reserve,
national park, sacred grove. Whereas gene banks, botanical gardens, zoos, aquariums etc. are Ex-Situ methods
of biodiversity conservation.

13. Ans– (d)

Arne Naess first used the term ‘Deep Ecology’ in the year 1973.

14. Ans– (b)

When both biotic and abiotic nutrients increase in water, this phenomenon is called Eutrophication. This is
related to water pollution. Due to this, the quality of water decreases along with the amount of oxygen also
decreases.

15. Ans– (d)

National Bureau of Plant Genetic Resources was established in the year 1977 in Delhi.
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16. Ans– (c)

Rani Jhansi Marine National Park is situated in Andaman and Nicobar Islands. It was established in the
year 1996.

17. Ans– (a)

Bomdila Pass is situated in the north western part of Arunachal Pradesh. Hence statement (1) is correct.
The Brahmaputra River enters India near the Yangyap Pass, which is situated in the north eastern part of
Arunachal Pradesh. Hence statement (2) is incorrect.

18. Ans– (a)









The correct match is :

(Mountain Range) (Type)

 Himalaya – Fold

 Sahyadri – Block

 Rajmahal – Volcano

 Nilgiri – Residual

19. Ans– (c)

Bhima is the tributary of Krishna and Indravati is of Godavari. While Bhavani and Hemavati, Herangi, Amravati,
Kabini, Arkavati etc. are the tributaries of Kaveri.

20. Ans– (d)









The correct match is :

(River Project) (State)

 Ranganadi Project – Arunachal Pradesh

 Vaitarna Project – Maharashtra

 Pochampad Project – Andhra Pradesh

 Hidkal Project – Karnataka

21. Ans– (b)

Rio Negro River, Putumao River, Tapajos River, Zapura River, Purush River, Madeira, Juruá, etc. are the
tributaries of Amazon.
The Magdalena River originates in Colombia's Cordillera Oriental mountain range and forms marshes before
draining into the Caribbean Sea.

22. Ans– (c)
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Statement-1 and Statement-3 are correct, while Statement-2 is incorrect. Congo River is the river with the
highest hydroelectric power producing capacity in the world.

23. Ans– (b)

The Rhine River flows forming the border between Germany and France. All other statements are correct. The
Rhine and Rhone are two different rivers. The Rhine River originates from Lake Constance in the Alps
Mountains. The Rhine River forms the busiest waterway in Europe. Cities like Frankfurt, Stuttgart, Rotterdam,
Cologne are situated at its banks.

24. Ans– (c)









The correct match is :
(City) (River)

 Warsaw – Vistula
 Lisbon – Tagus
 Prague – Alb (Prague is actually situated at the Vltava, a tributary of the Elbe, later called the

Elbe)
 Linz – Danube

25. Ans– (d)

All the statement mentioned in the question are correct.
– Saudi Arabia is ranked second after Venezuela in mineral oil storage.
– While Norway is 99% dependent on hydropower for energy, Paraguay is 100% dependent

26. Ans– (d)

The first country to dissociate from the Kyoto Protocol is Canada in 2011. Whereas USA dissociated from it at
the time of Paris conference in 2017.

27. Ans– (d)

 SDG-5

 SDG-6

 SDG-7

 SDG-8
The correct match is :
(Sustainable Dev. Goal) (Title)
 SDG-5 – Gender equality
 SDG-6 – Sanitation and clean drinking water
 SDG-7 – Cheap and clean energy
 SDG-8 – Decent work, inclusive and economic growth

28. Ans– (d)
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









 The Government of India Act 1935 had a total of 321 sections and 10 schedules.
 In this, arrangements were made for an All India Federation which was made up of the provinces of

British India, Chief Commissioner provinces and native princely states.
 Burma was sceded from India.
 By ending diarchy in the provinces, arrangements for provincial autonomy were made.
 Diarchy was established at the centre.

29. Ans– (a)

In India, Institute of Bio-resources and Sustainable Development is situated in Imphal (Manipur).

30. Ans– (c)

Pandit Jawaharlal Nehru had stated the Act of 1935 as– “Charter of Slavery” and “A car which has brakes
but no engine”.
Jinnah commented it as “thoroughly rotten, fundamentally bad and totally unacceptable”.

31. Ans– (a)









 Berubari Case – 1960
 Sajjan Singh Case – 1965
 Golaknath Case – 1967
 Minerva Mill Case – 1980

32. Ans– (d)









The correct match is :
(State) (Formation Year)

 Nagaland – 1 Dec. 1963
 Arunachal Pradesh – 20 Feb. 1987
 Tripura – 21 Jan. 1972
 Haryana – 1 Nov. 1966

33. Ans– (d)

The Sixth Schedule of the Indian Constitution focuses on the states of Assam, Meghalaya, Mizoram, Tripura.
There is a system of autonomous district council in the above mentioned states. Each District Council will be
composed of 30 members of which 4 members will be nominated by the Governor.

34. Ans– (a)
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Advocate General of the State – Article 165
Attorney General of India – Article 76

35. Ans– (b)









The correct match is :
(State) (Lok Sabha Seats)

 Bihar – 40
 Tamil Nadu – 39
 Madhya Pradesh – 29
 Karnataka – 28

36. Ans– (c)

Establishment of Meghalaya High Court – 25th March 2013

37. Ans– (c)

Both the statements regarding ‘Bharat Ratna Awards–2024’ mentioned in the question are correct.

38. Ans– (d)





 World Wetlands Day – 3 February
 World Cancer Day – 4 February

39. Ans– (a)









The correct match is :
(Mahajanpada) (Capital)

 Malla – Kushavati
 Kamboja – Hatak
 Chedi – Shuktimati
 Ashmak – Potali/Potan

40. Ans– (b)

The Bhitari inscription is related to Skandagupta. It also mentions the conflict between Skandagupta and
Pushyamitra as well as the Huns.

41. Ans– (b)









The correct match is :
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(Monastery) (State)
 Namgyal Monastery – Dharmashala, Himachal Pradesh
 Mindrolling Monastery – Dehradun, Uttarakhand
 Rumtek Monastery – Gangtok, Sikkim
 Namdroling Monastery – Mysore, Karnataka

42. Ans– (b)

Mahmud Ghazni's father's name was Subuktagin. Subuktagin was the son-in-law and the slave of Alptagin.
Who established the Ghazni Empire in 932 AD.

43. Ans– (b)

Bahlol Lodi was the founder of the Lodi dynasty. The credit for the establishment of the first Afghan state at
Delhi goes to him. He introduced the ‘Bahlol’ coin. Bahlol Lodi used to call his chieftains as ‘Maqsad-e-Ali’.

44. Ans– (a)









The correct match is :
(City) (Reason for Fame)

 Surasati – For good quality rice.
 Anhilwad – Pilgrimage place for traders
 Satgaon – For silk quilts
 Agra – For indigo production

45. Ans– (b)









 Bahadur Shah – 1707-1712
 Jahandar Shah – 1712-1713
 Muhammad Shah – 1719-1748
 Ahmad Shah – 1748-1754

46. Ans– (b)











The first factory of European Companies :
 Portuguese – Cochin
 Dutch – Masulipatnam
 British – Masulipatnam
 Dennis – Travancore
 French – Surat

47. Ans– (c)

“Congress conference is a three-days tamasha” was commented by Ashwini Kumar Dutta. All other mentioned
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in the question are correctly matched.

48. Ans– (a)









The correct match is :
(Organisation) (Year of Estab.)

 East Indian Association – 1866
 Indian League – 1875
 Indian Association – 1876
 Indian National Social Conference – 1887

49. Ans– (c)

Electric cell converts chemical energy into electrical energy. The electric cell was invented by A. Volta in
1799.

50. Ans– (d)









The correct match is :
(Apparatus) (Inventor)

 Submarine – David Bushnell
 Radar – Robert Watson Watt
 Tanks – Sir Ernest Swinton
 Machine Gun – Sir James Puckle

51. Ans– (c)

With the help of Hygrometer, the humidity present in the atmosphere is measured. All other options are
correct.

52. Ans– (c)

Modern Periodic Table is based on the Moseley’s Law. On moving from top to bottom in a group in it, Ionization
Energy increases. All other statements are correct.

53. Ans– (d)

Fluorspar is an ore of calcium. The ores of aluminium are bauxite, corundum, feldspar, kaolin, cryolite,
alunite etc. respectively.

54. Ans– (d)








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The correct match is :
(Acid) (Natural Source)

 Tartaric Acid – Tamarind, Grape
 Oxalic Acid – Tomato
 Methanoic Acid – Scorpion/Ant Sting
 Butyric Acid – Putrefied Butter

55. Ans– (b)

Except radon, all other inert gases are found freely in the atmosphere. Radon is a radioactive element. It is
used in the treatment of cancer in the form of radiotherapy.

56. Ans– (a)









The correct match is :
(Plant) (Family)

 Apple – Rosaceae
 Orange – Rutaceae
 Tomato – Solanaceae
 Turnip – Cruciferae

57. Ans– (d)









 Smut disease is related to millet crop.
 Ergot disease is related to rye crop.
 Due to wart disease, black thread-like structure is formed in the potato tuber, due to which the potato

sometimes rots.
 Tikka disease- Round spots are formed on both the surfaces of the peanut leaves.

58. Ans– (a)





Both the statements mentioned in the question are incorrect.
 Pancreatic juice is an alkaline juice, in which Trypsin, Amylase and Lipase enzymes are found.
 Gastric juice is an acidic juice, in which Pepsin and Rennin enzymes are found.

59. Ans– (c)









The correct match is :
(Five Year Plan) (Priority Sectors)
 Fourth Plan – Development with justice and economic self-reliance
 Fifth Plan – Poverty alleviation and attainment of self-reliance
 Tenth Plan – Ending poverty and unemployment
 Eleventh Plan – Rapid and inclusive development
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60. Ans– (b)

Laffer curve was propounded by Arthur Laffer which shows the relationship between tax rates and revenue
received by the government.

61. Ans– (c)









The correct match is :
(Central Scheme) (Launched on)

 Pradhan Mantri Ujjwala Yojana – 1 May 2016
 Namami Gange – 7 July 2016
 Ayushman Bharat – 23 Sept. 2018
 Bharatmala Project – 24 Oct. 2017

62. Ans– (a)

















(Industrial Sector) (Foreign Investment Limit)
 Defence Production – 100%
 Public Bank – 49%
 Private Bank – 74%
 Insurance – 74%
 Pension – 49%
 Print Media – 26%
 Education – 100%
 Electricity and Telecom. – 100%

63. Ans– (c)

Wanchoo Committee deals with direct taxes. All other pairs are correctly matched.

64. Ans– (b)

A total of 4 caves are situated on a hill named 'Barabar' in Gaya district of South Bihar, in which Ashoka's
inscriptions are engraved on the walls of three caves. These caves belong to the Maurya period (321-184 BC).

65. Ans– (c)



 II





The correct rmatch is :
 Gandhara Art – Kushan
 Aihole Inscription – Pulakeshin-II
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 Uttaramerur Inscription – Chola
 Taxila Inscription – Patika

66. Ans– (b)

Sarai Nahar Rai, Mahdaha and Damdama situated in Pratapgarh district of the middle Ganga valley have been
excavated. A total of 41 human burials have been recovered from Damdama. Out of these burials, 5 burials are
couple burials and in one burial, 3 human skeletons have been found buried together. One skeleton each was
found in the remaining burials.

67. Ans– (d)

Gopala (750 AD) was the founder of the Pala dynasty. Gopala was a follower of Buddhism. He established
Odantapuri University. The greatest ruler of the Pala dynasty was Dharmapala, who founded Vikramshila
University.

68. Ans– (c)









The correct match is :
(Jain Tirthankars) (Symbol)

 Rishabhdev – Bull
 Parshvanatha – Snake
 Sambhavnatha – Horse
 Mahavir – Lion

69. Ans– (c)

In 1394 AD, Malik Sarwar established the independent Sharqi state in Jaunpur. The Sharqi rulers ruled for
about 85 years, but in 1479 AD, Bahlol Lodi defeated its last ruler Hussain Shah Sharqi and made Jaunpur
again a part of the Delhi Sultanate.

70. Ans– (b)

Jahanara was the eldest daughter of Shahjahan and Mumtaz and elder sister of Aurangzeb. Aurangzeb had
given the title of ‘Sahibat-uz-Zamani’ to Jahanara.

71. Ans– (a)

In the Vijayanagara Empire, those agricultural labourers who were transferred along with the purchase and
sale of land were called ‘Kudi’.

72. Ans– (b)

Aquatic ecosystems have limited productivity due to lack of light. It decreases exponentially with depth in
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water. Hence statement 1 is not correct.
Estuaries, which are the meeting point of the continent and the ocean, are the areas of highest productivity.
Hence statement 2 is correct.
It is noteworthy that nitrogen is considered an important nutrient in the marine ecosystem. But, there is a
lack of nitrogen in the sea due to which the productivity of the marine ecosystem is limited.

73. Ans– (d)

   
Autotrophs

Herbivores

Carnivores

Omnivores

Decomposers

The correct order of trophic levels in the food chain is-

Autotrophs Herbivores   Carnivores  Omnivores   Decomposer

Autotrophs : They produce food for all the organisms in the ecosystem. These include most of the green
plants, which convert inorganic substances into chemical energy through photosynthesis.

Herbivores : Those who directly eat plants such as insects, birds, rodents, ruminants.

Carnivores : Those who eat herbivore animals, example- frog, dog, cat, tiger.

Omnivores: Animals that eat both plants and animals, example- pig, bear, human.

Decomposers: They eat the dead remains of organisms of every trophic level and help in the cycling of
nutrients, such as bacteria and fungi.

74. Ans– (a)
IIT









According to the study jointly conducted by leading scientists of Bose Institute, Kolkata and Indian Institute
of Technology (IIT) Kanpur, air pollution is a major threat to the Sundarbans.
 In study it is found that large amounts of pollutants, mainly rich in black carbon or soot particles, are

coming from not only the Kolkata metropolitan area but also from the Gangetic plains across India,
which is significantly deteriorating the air quality of the Sundarbans. Due to which its ecosystem is
being affected.

 Mangroves are a group of plants found in inter-tidal zones along the coasts of tropical and subtropical
countries.

 Mangrove forests are important in many ecological functions such as: production of timber, as feeding
and spawning areas for fin-fish and shellfish, in providing habitat for birds and other valuable organisms,
protection of beaches and accumulation of sediment.

 Among the states and union territories, West Bengal has the highest percentage of total mangrove
cover area, followed by Gujarat and Andaman and Nicobar Islands.

 Sunderbans is home to the world's largest mangrove forests, situated on the delta of the Ganges,
Brahmaputra and Meghna rivers in the Bay of Bengal region.

75. Ans– (c)

IPCC
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°C °C

ANN

°C 
According to a recent study titled ‘Contradictory Projections from the Intergovernmental Panel on Climate
Change (IPCC)’, the world is likely to warm by two degrees Celsius by 2050 even under a low emissions
scenario.
The researchers used artificial intelligence named Artificial Neural Networks (ANN) to predict when temperatures
would reach the 1.5°C and 2°C thresholds.
The world has recorded an increase of 1.1 °C compared to the average temperature of 1850-1900.

76. Ans– (a)

WMO

IMO

WMO
The World Meteorological Organization (WMO) is an intergovernmental organization with a membership of
192 countries. India is a member country of the World Meteorological Organization.
It originates from the International Meteorological Organization (IMO), which was established after the Vienna
International Meteorological Congress of the year 1873. The headquarters of WMO is in Geneva, Switzerland.

77. Ans– (c)

The Steel Ministry wants to reduce carbon emissions in the steel industry by promoting green steel.
Green steel refers to the manufacturing of steel without the use of fossil fuels. This could be done using low-
carbon energy sources such as hydrogen, coal gasification or electricity instead of the traditional carbon-
intensive manufacturing route of coal-fired plants. This ultimately reduces greenhouse gas emissions, cuts
costs and improves the quality of steel.

78. Ans– (b)









 Wildlife (Protection) Act – 1972
 Environmental Protection Act – 1986
 Biodiversity Act – 2002
 Forest (Conservation) Act – 1980

79. Ans– (c)

Both the statements regarding ‘Itlaq System’ mentioned in the question are correct.

80. Ans– (a)

BMD Bone Mineral Density
Full form of BMD is Bone Mineral Density. BMD test is used to diagnose Osteoporosis.

81. Ans– (c)









The correct chronology is :
 Charles Wood Dispatch Committee (1854 AD)
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 Hunter Commission (1882-83 AD)
 Raleigh Commission (1902 AD)
 Sadler Commission (1917 AD)

82. Ans– (b)

Article 28 provides the Right to Religious Freedom for all persons (Foreigners or Indian Citizens). Statement_2
is correct.

83. Ans– (c)

When one limb of the recumbent fold breaks and climbs on another type of rock which is several kilometers
apart, it is called Nappe. The valley of Kashmir is situated on a Nappe.

84. Ans– (c)

Both the statements mentioned in the question are correctly matched.

85. Ans– (c)

The instrument used to measure the speed of a rotating object is ‘Tachometer’. It is based on conservation of
angular momentum.

86. Ans– (c)

‘Uranium Dating’ method is used to determine the age of the earth.

87. Ans– (a)

– Maharashtra (1960)
– Nagaland (1963)
– Meghalaya (1972)

88. Ans– (d)

Mount Titlis is situated in Switzerland. All others are correctly matched.

89. Ans– (c)

Biome is the main part of an ecosystem. All the functional groups of vegetations and organisms are included
under it. There is highest dominance of vegetations in a Biome. So both the statements are correct.

90. Ans– (c)

Constance Lake is the meeting point of Germany, Switzerland and Austria.

91. Ans– (b)









 SDG-5 – Achieve gender equality and empower all women and girls
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 SDG-6 – Clean water and sanitation for all
 SDG-7 – Ensure access to affordable, reliable, sustainable and modern energy for all
 SDG-8 – Encouragement to  inclusive and sustainable economic growth, employment and

decent work for all.

92. Ans– (b)









The correct match is :
(Place) (Industry)

 Vishakhapattnam – Ship Building
 Dalmia Nagar – Cement
 Bhopal – Pesticide
 Panki – Fertilizer

93. Ans– (b)

A R R A

Bile
Assertion (A) and Reason (R) both are correct, but reason (R) is not explaning Assertion (A) correctly.
The Bile secreted by the liver is stored in Gallbladder because this bile increases the intensity of enzyme
actions.

94. Ans– (d)









The correct chronology is :

 Establishment of ‘Abhinav Bharat’ – 1904 A.D.
 Establishment of Anusheelan Samiti – 1907 A.D.
 Alipur Conspiracy Case – 1908 A.D.
 Nasik Conspiracy Case – 1909 A.D.

95. Ans– (c)

‘Narayani’, Hot Water Spring is situated at Jaipur (Rajasthan).

96. Ans– (d)

‘Self-repression’ is the main principle of Jain reigion. This principle is not prevalent in Buddhists.

97. Ans– (a)

Fertigation means providing fertilizer by the water, through which efficiency of fertilizer and irrigation water
can be increased.

98. Ans– (c)

Both the statements mentioned in the question are correct.

99. Ans– (d)
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





Christchurch is a city of New Zealand. Capital of New Zealand is Wellington.
(Country) (Capital)

 Cyprus – Nicosia
 Mauritius – Port Louis
 Bern – Switzerland

100. Ans– (d)

The minimum age for being elected as the member of Legislative Council is 30 years.

101. Ans– (d)

‘Global Migration Report’ is published by International Migrant Organisation.

102. Ans– (b)

A
Any person has rights to publish the proceedings of parliament/state assembly, it is described in Article
361(A).

103. Ans– (b)

“International Rural Women's Day” is celebrated all over the world on 15th October.

104. Ans– (d)

Article 11 of the Indian Constitution empowers the Parliament to regulate the right to citizenship.

105. Ans– (d)

In the visual spectrum, the correct order of the colours on the basis of increasing order of wavelength is :
Violet, Blue, Yellow, Red.

106. Ans– (a)

Johannesburg Summit (2002) is also known as ‘Second Earth Summit’. Agenda-21 was declared in this
summit.

107. Ans– (d)

All the statements mentioned in the question are correct.

108. Ans– (d)

[Rectangle with 1 component] = 6

[Rectangle with 2 component] = 7

[Rectangle with 3 component] = 2

[Rectangle with 4 component] = 2

[Rectangle with 6 component] = 1

= 6 + 7 + 2 + 2 + 1 = 18
Thus, total number of rectangles formed in the above figure = 6 + 7 + 2 + 2 + 1 = 18
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109. Ans– (a)

Each next term in the given series is obtained by multiplying the previous term by the next prime number
respectively.
2 = 2

6 = 2 × 3

30 = 2 × 3 ×

210 = 2 × 3 × 5 × 7

x = ?

30030 = 2 × 3 × 5 × 7 × 11 × 13 
30030 = 2 × 3 × 5 × 7 × 11 × 13 (The product of all consecutive prime numbers)

Hence it is clear that –

x = 2 × 3 × 5 × 7 × 11 = 2310

110. Ans– (b)

The letters of the given series are in increasing and decreasing order according to the English alphabet.

111. Ans– (c)

In the given series there are successive increases of +3, +6, +12, +24, +48 respectively.

hence, x = 29

112. Ans– (b)

Just as a nurse is an assistant to a doctor, similarly a policeman is an assistant to an inspector.

113. Ans– (a)

The diagrammatic presentation of the question will be as follows:

D A 
As per the above diagram it is clear that A is the uncler of D.

114. Ans– (c)

  angle formed in an hour = 360º

 angle formed in 2 hours = 360 × 2 = 720º

Similarly 
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angle formed in 20 minutes 
360

20 120º
60

  

= 720º + 120º = 840º
That is, the minute hand will make an angle of the entire distance = 720º + 120º = 840º

115. Ans– (a)


In the year 1964, 15th July was Wednesday, therefore, July 15, 1965 will be Thursday.

116. Ans– (d)

As– Similarly–

M A I L E D L E T T E R

           
N B J M F E M F U U F S

LETTER = MFUUFS
Hence LETTER will be MFUUS.

117. Ans– (c)

O 
Let the starting point be O. The direction diagram of a person's walking will be as follows-

It is clear from the above figure that the distance of the person from the starting point

= OD = AB – CD

= 6 – 5 = 1 km 

118. Ans– (a)

As–

182 + 152 = 549

172 + 192 = 650

Similarly– 152 + 142 = 421

119. Ans– (b)

On arranging the books from top to bottom according to the given conditions-

B E D
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Hence, it is clear the there are 2 books E and D below B.

120. Ans– (a)

Gita is more beautiful than Sita but not as beautiful as Rita so it means that Sita is not as beautiful as Gita.

121. Ans– (a)

According to the Hurun India Philanthropy List-2023 released in November-2023, Indian donor Shiv
Nadar got the top rank. Rs. 2,092 crore has been donated by HCL Tech founder Shiv Nadar in the financial
year 2022-23.

122. Ans– (b)

In November-2023, to promote innovation ecosystem India launched ‘Innovation Handshake’ Initiative with
USA.

123. Ans– (b)

In November-2023, ‘Renita Rismayanti’ was honoured with the United Nations Woman Police Officer of
the Year Award. She is a citizen of Indonesia.

124. Ans– (c)

Both the statements mentioned in the question are correct.

125. Ans– (b)

Central Information Commission is not a constitutional body. All other statements mentioned in the question
are correct.

126. Ans– (c)

Both the statements mentioned in the question are correct.

127. Ans– (a)

In Nov.-2023, the Second World War Museum ‘The Hans’ was inaugurated in Pasi Ghat (Arunachal Pradesh).

128. Ans– (a)

In November 2023, the word ‘hallucinate’ was declared the ‘Word of the Year’ by Cambridge Dictionary.

129. Ans– (c)

EIU

In November 2023, the ‘Worldwide Cost of Living-2023’ list of the world's most expensive cities was
released by the Economist Intelligence Unit (EMU), Singapore and Zurich cities topped the list.

130. Ans– (c)

In Nov. 2023, ‘Javier Milei’ assumed office as the President of South American country Argentina. Javier
Milei is a Argentine right-wing liberal leader.
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131. Ans– (d)

In November 2023, Russia officially withdrew from the 'Treaty on European Armed Forces'. This step has
been taken by the Russia after recently canceling of the Comprehensive Nuclear Test Ban Treaty (CTBT).

132. Ans– (a)

In November 2023, the Pradhan Mantri Janjati Adivasi Nyaya Maha Abhiyan (PM-Janman) was launched by
Prime Minister Narendra Modi from Khunti (Jharkhand). It was started on 15 November 2023 on the occasion
of Tribal Pride Day.

133. Ans– (b)

Bollywood actor Pankaj Tripathi was appointed as ‘UPI Safety Ambassador’ by the National Payments
Corporation of India (NCPI) in Nov.-2023.

134. Ans– (b)

In Nov. 2023, The first Sheep-Goat Rearing Training Centre of Uttar Pradesh was inaugurated in Etawah.

135. Ans– (a)

In November-2023, ‘World Tourism Market-2023’ was held in London (UK). The Ministry of Tourism, Govt.
of India also participated in it.

136. Ans– (c)

In the ‘Global Unicorn Ranking-2023’ released in November-2023, India is at the third position with a total
of 72 unicorns.

137. Ans– (b)

In November-2023, ‘Global Fisheries Conference India-2023’ conference was organized in Ahmedabad. In
this conference, Uttar Pradesh got the first rank in inland fisheries (plain areas).

138. Ans– (b)

In Nov. 2023, the joint military exercise ‘Mitra Shakti-2023’ was organized between India and Lanka in
Aundh (Pune).

139. Ans– (d)

In November-2023, the first Global AI Safety Summit-2023 was hosted by England. This AI agreement was
named ‘Bletchley Declaration’.

140. Ans– (a)

In November 2023, ‘Nayi Chetna 2.0’ Campaign to prevent gender-based violence was launched by the
Ministry of Rural Development.

---------------
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